(B) 50%
(O10%

(D) 40%

53. Fungi belong to the category of :

(A) Consumer

(B) Decomposer

(C) Producer

(D) Abiotic component

54. Zoos are examples for :
(A) In-situ conservation

(B) in-vivo conservation

\(Qfex-situ conservation

(D) ex-vivo conservation
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(C) Reaction

(D) Sere

6. Biodiversity -
N(A) Increases towards equator
(B) Decreases towards equator

(C) Remain same throughout the planet

(D) Has no effect on change in latitude

57. The sequence of energy flow through a food chain is :
(A) Primary consumers - producers - secondary consumers

(B) Producers - secondary consumers - primary consumers

(C) Secondary consumers - primary consumers - producers

\(Mroducers - primary consumers - secondary consumers
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59. Montreal Protocol is adopted to reduce :

(A) Green house gases

- Mzone depletion

(C) Automobile emission

(D) Deforestation

60. Detritus food chain starts from :

(A) Green plants

‘ . -l. i 2 .'l d I. 1- & b 3 ; . '
i ; -.. i A e 'h
H ' ; 5 Y - y. B y - I i -
2 . e LBy B o e i} 23
I‘ | —_ . - d ! y i

L T TR T

N Scanned by TapSéanner



62. Which of the following is a Blodlvemty Hot Spot “M

Mestem Ghats 2

(B) Nandadevi
(C) Eastern Ghats

(D) Aravalli

63. Which one of these 1s a Producer in an ecosystem ?

(A) Cow

V(fB)/ Banyan trec

(C) Earthworm

(D) Lizard
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(B) Ponds and lakes

(C) Forests in arid areas

(D) Orchards in flood plains
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(B) Helen Caldicott
{/C)Rachel Carson

(D) E. P. Odum

68. What is Mega diversity country ?

(A) Countries where in the number and area of Biodiversity Hot
Spot are comparatively high

(B) Countries which have more number of exotic species

(C) Countries which have more number of National Parks

(D) None of the above

69 Photo-Chemical Smog is also called :

(A) Nitrogenous SMOg

A(B) London SmoE

(C) Chlorous SMOg

(D) None of these
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( 48 )
70. The most important indoor air pollutant is :

(A) SO,
(B) CO,
(C) NO,

(D) Radon

71. Minamata disease was caused due to :
(&) Mercuw poisoning
(B) Cadmium poisoning
(C) Lead poisoning

(D) Arsenic poisoning

72. Rainwater harvesting i1s one type of :
(A) Wetland Conservation
(Bj/Water Conservation
(C) Forest conservation

(D) Biosphere Conservation
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74. The unit of intensity level of noise is :
(A) Metre
(B) Candela

(C) Newton

\_LB’)/Decibel

75. Dissolved oxygen in water comes from :

(A) Photosynthesis of aquatic plants

(B) Atmosphere
(C) None of these

F AR e
S il %
5 - 55

e R S o ST
Scanned by TapScanner



(A) Green house gases

\/GBS Sustainable deveiopment
(C) Biodiversity

(D) Nuclear pollution

78. The Environment (Protection) Act was enacted in -

(A) 1981

B 1986

i s Tt e = P L g
ey e T R S A

Scah_ﬁhe'd by TapScanner



(C) Ecosystem of grassland

. .(D) None of the above

80. National park is one kind of :

(A) Ex-situ Conservation
_B) In-situ Conservation
(C) Botanical Garden

(D) None of the above
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